®
aWtek SYNTHETIC HEAVY DUTY ENGINE OIL

ULTIMATE LUBRICANTS

DELTASYN ULTRA SAE 10W-40

DeltaSyn Ultra SAE 10W-40 is a HC-Synthetic high performance motor oil
for diesel engines of the newest generation. It was specially developed for
diesel engines with EURO 5 and EURO 6 standard with aftertreatment of
exhaust gas (particle separator). In order to maintain the functionality of
aftertreatment systems and to avoid disturbance, the use of a motor oil with
Low SAPS (Low Ash) technology is obligatory.

DeltaSyn Ultra SAE 10W-40 can also be used for diesel engines with Euro 4
and engines with particulate fi Iters in combination with low-sulfur diesel (up
to 50 ppm). The reduced values of sulphate, phosphor and sulphur are
guaranteed by selection of specially developed basic oils and additives.
DeltaSyn Ultra SAE 10W-40 meets and exceeds with the following
manufacturers specifications:

API CK-4/CJ-4/CI-4/SN ACEA E6-, E7-, E9-08
MB-228.51, (226.9) MAN M 3477, M 3271-1

VOLVO VDS-3, CNG CATERPILLAR ECF-1a
CUMMINS CES 20076/77 DAF Long drain

DEUTZ DQC-IV-10 LA JASO DH-2; MTU Typ 3.1
MACK EO-N / EO-M Plus RVI (Renault) RLD-2, RXD, RGD
SCANIA Low Ash ALISON TES 439

Physical Properties

PRODUCTS - 10W-40
SAE Grade 10W-40
Viscosity:

@ -25°C, mPa.s 6800

@ 100°C, cSt 153
Viscosity Index 150
Specific Gravity 0.872
Flash Point, °C 232
Pour Paint, °C -32
Total Base #, mg KOH/g 11.3
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Shelf Life: DeltaSyn Ultra 10W40 product have a 5 years shelf life. Shelf life
is from the date of manufacture, after which the product should be recertified
prior to use.
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